G A @ﬂ) e FUNCY, Paor et
R3S (1) FTCOFTHYT S
M
SRTEE 1MW 7 A, 8 AL 9 HX 4, B LB
Hetep s, | A ORER g 0719901 5 |2, | OOHTS
il (A —> g %) moE N ARG A ORD

OH An OX AR SRR - SpE - Pt - AR Y — D -
CA W &5 T EORU - A X R
Zoft ( ATN—FFROA, )
XINE IIERE - AR - HE A 7 — AR -
AV S 55 ORI - A< B
TOM Gihd - Mt - Bl — - i A 2L, )
OTHAE Sy A A5 « AR + 27 ) — A -
(ADH H@DH)E' 5 % i 5T O - A2y bBII
2ot (WBIIHOWTERICETROGIL., #HZT-, )
SO T Syt e QLD ST - 7 U — A -
0w AT 3% FF ORI « A o FBA )
: Z O (%j’bb\{fng Ta b EAEE LA, )
YW « ASHEH - PEIE A - ARRHVEBRIIIY - 7 ) — A -
[FE A :
TR 18 (7H, 87, 9H) LY = -
SRR 28 (10A. 1 1A, 12AH)
oMTEE 38 (1A, 24, 3H) )
TROTHEE 48 (4H. 5H. 6 A1) —
F q « 7 U — AR -
1 3 HECTT vt
¢ W) Zof ( )
T Sy « SR PR « ARRVEBIIL - 2 ) — i -
( W T EORUG - A X RN
Zofh ( )
0o Sy « SR PRI A « ARRVEBIIL - 7 ) — i -
C ma) F 5 LEDRU - AR BB
) Z DA ( )
TR Sy « SR PRI - AR - 7 ) — A -
¢ T T HEORMAT - A X RSN
Zofh ( )
T YR « SR PRI - AR - 7 ) — A -
( WD) T T HEORMAT - A X RSN
" Z ot ( )
VED B, HEER S LGB LT D A RA LTSN,
2) AV AT LT S0,
(1W=7, 8, 9H) (2W=10, 11, 12/]) (3W=1, 2, 3H) (4W=4, 5, 6 /1)

XA



GZ A fi)

OB L OB R i = OH

R0 (2)

1P O3 AR 2 B e

/




